Construction of simple recursive descent parsers (3)
The transformation Parse(S) is governed by simple rules:

· If the production yields a single terminal,  S  (  terminal, then the action of Parse is to report an error if an unexpected terminal is detected, or (hopefully) to accept it, and scan to the next symbol.

            Parse(terminal) →
              IF IsExpected(terminal) 

                THEN Get(sym)

                ELSE ReportError 

              END

· If we are dealing with a single production of the form A (  B, then the action of Parse is simple:

                Parse(SingleProduction A)  (  B

· If the production allows alternatives, so  S (  1  |   2  |  ...  n , then the action of Parse can be expressed as a selection 

            Parse (1 | 2 | ... n ) (
              CASE sym.kind OF 

                FIRST(1) : Parse(1); 

                FIRST(2) : Parse(2); 

                ...... 

                FIRST(n) : Parse(n);

                ELSE ReportError 

              END 

